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HETEEDEE. .. Fr—FDIRIE (Church’s Thesis)

Chapter 2: Introduction to Computability 2
2.1. Studies on recursive functions
recursive function theory
(1) studies on what is “computation”
(2) proof of incomputability
(3) structural studies on a class of incomputable functions
(4) related mathematics fields

(1) Studies on what is computation.
"When do we call a function computable?"
-recursive function theory by Kleene
= Turing machine theory by Turing
=>the whole set of recursive functions
=the whole set of functions computable by Turing machines

Church's Thesis on the definition of computability
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(2) Proof of incomputability

+Proof of computability is easy: just give a program
-to prove incomputability
must prove that no program exists : difficult
proof tools: diagonalization
recursive reducucibility

(3) Structural studies on a class of incomputable functions
hierarchical class depending of hardness
->structural studies

(4) Related mathematics fields
mathematical logic
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RiEL: n:=m*4+n;=»n_s := plus(mult(m_s, 100), n_s);
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2.2. Elements of Computation

String data type suffices to represent data. All data types can
including structured type be represented by strings on X .

Lemma 2.1: All elementary data types can be represented by
X* types and structured type.

types for natural numbers, integers, reals, truth values, strings

Ex. 2.1: Natural number->binary representation ( Z*type)
declaration: var n,m: num; =» var n_s, m_s: &%
expressions: n:=m*4+n;=»n_s := plus(mult(m_s, 100), n_s);
functions on =* are required for elementary operations
on natural numbers (plus, minus, multiply, divide, compare)
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prog plus(input X, y: £*): *;

var a,b,c,d,z: £*; cFv!)—, d:
begin
c:=0; z:= ¢;

while x = ¢ v y # & do
if x# ¢ then a:=tail(x); x:=left(x) else a:=0 end-if;
if y# & then b:=tail(y); y:=left(y) else b:=0 end-if;
case (a,b,c) of
(1,1,1): c:=1; d:=1;
(0,0,0): c¢:=0; d:=0;

(0,1,1), (1,0,2), (1,1,0): c:=1; d:=0;
(0,0,1), (0,1,0), (1,0,0): c:=0; d:=1;
end-case;
z=d#z BRAYBLOTAEDHKIL
end-while; EZZ L.
ifc=1thenz:=1#z;
halt(z);
end.
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BHABDIERET
B #n > 0% n @i

In]: BHRHEno2ERE [4]1> 100
n o BRAEnOIERE 2z - 0000

2.2, —fEDXFFH (T LDXFFHNE L EDOXFFITREAEE.
e.. 8E Yk D2EFI THI—RIL(ASCIIT—RAE)

Sright()Z #3257 05'S L right_str

prog right_str(input x: *): %

var y: L%

begin
yi=right(®); y:=right(y); y:=right(y); y:=right(y);
yi=right(y); y:=right(y); y:=right(y); y:=right(y);
halt(y)

end.
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prog plus(input x, y: *): *;
var a,b,c,d,z: £*; c:carry, d:sum
begin
c:=0; z:=¢;
while x = ¢ v y # & do
if x# ¢ then a:=tail(x); x:=left(x) else a:=0 end-if;
if y # ¢ then b:=tail(y); y:=left(y) else b:=0 end-if;
case (a,b,c) of
=1, d:=1;
(0,0,0): c¢:=0; d:=0;
(0,1,1), (1,0,2), (1,1,0): c:=1; d:=0;
(0,0,1), (0,1,0), (1,0,0): c¢:=0; d:=1;
end-case;
z=d #z; No negative numbers are considered
end-while; since we only deal with natural
ifc=1thenz:=1#z; numbers
halt(z);
end.
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Unary representation of a natural number
natural number n->sequence of n 0s
[n]: binary representation 1419 100

n : unaryrepresentation 4 =» 0000

Ex. 2.2: Ordinary letters are also represented by binary strings
e.g. each letter is coded in 8 bits

=>we need a function right_str() to simulate right()

prog right_str(input x: £*): £*

var y: 2%

begin
yi=right(x); y:=right(y); y:=right(y); y:=right(y);
yi=right(y); y:=right(y); y:=right(y); y:=right(y);
halt(y)

end.
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2.3 BHE S S RLEER (HAEEFS)
var n_s: record sign: £ % n OS5 (8=0, EE=1)
abs: ¥ % n DERHBED2HEHFRIR
end-record,;

La—KR&, EHE, RAU4RGEDOEER LR TRFAE

FHRE2.2. TRTOEER IR TRETES.

i TARTOR/RVA(RFH1L)

(011, 101)100 000 111 111 010 111 000 111 001
(011, 10 1)

<011, 101>: (011, 101)&RL T3 LROXFF, DFEY
<011, 101> = 100000111111010111000111001
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Ex.2.3: integer-> =*type and structure type
(absolute value and sign)
var n_s: record sign: £ % sign of n(negative=0, positive=1)
abs: £* % binary representation of the absolute of n
end-record;

Structure types such as record type, array type and pointer type are
represented by =* type.

Lemma 2.2. All structure types are represented by X* type.

(011, 101)=100 000 111 111 010 111 000 111 001
(011, 10 1)

<011, 101>: the above string representing (011, 101), that is,
<011, 101> =100000111111010111000111001
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NER %t &g B2 LD DEELRIBITES.
EE, ROBBEHETST0TSLAFETS.

£ab,ce T TxL,

pair(a, b)=<a,b>

1st(c) =x, Ax,y[c=pair(x,y)]D&EE,
=2, ZTDhDLE.

2nd(c) =y, IAx,y[c=pair(x,y)]DEZE,
=2, ZDMDEE.

a=011, b=101D & F,
pair(a,b) = <a,b> = <011, 101>
=100000 111 111 010 111 000 111 001
¢=100000111 111010 111 000 111 001D &E,
1st(c)=011, 2nd(c)=101

EROEZAIZ=D4, EOM, ... ICHIRIRATEE
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Conversion between ordered pairs and corresponding binary
sequences is easy.
In fact, there is a program computing the following function.
foreach a,b,c e =
pair(a, b) =<a,b>
1st(c) = x, if Ixy[c=pair(x,y)].
=7, otherwise.
2nd(c) =y, if Ax,y[c=pair(x,y)],
=7, otherwise.
(the symbol ? is returned for type error)
for a=011, b=101,
pair(a,b) = <a,b> = <011, 101>
=100000 111111 010 111 000 111 001
for c=100 000 111 111 010 111 000 111 001,
1st(c)=011, 2nd(c)=101
The above idea can be extended into triples, four tuples, etc.
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Proof of the lemma: realizing an array by a Z*type variable

It suffices to consider an array ... of =*.
Ex.2.4: Suppose a variable v is of type array[3..7] of Z*. How to
represent this variable by a variable v_s of type X*.

3 456 7 . .
v T [ T T ] arrayof5elementsinXZ*astringv_s

3 456 7 _
v_s=<1,00,1,¢, 1>
v [1fool o] [ 1] =100 111 010 000 000 010 111 010 010 111 001

prog ...
prog ... varv_s, tmp: ; <ee e ee>
var v: array[3..7] of £*; begin ____ ~nitialization of an
begin v_s:=create(7-3+1); array

\,'[4] := v[6] # 000; tmp:=get(v_s, 6-3+1);

: tmp:=tmp # 000;

end. V_s:=put(v_s, 4-3+1, tmp);

end.
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HREADGER: BHRESBTERT LA E
#(Z, array ... of S B EZ NIE KLY
2.4, =5 v DE parray[3.7] of S B0 f=& LT, COEHZE
SEOEH v s TRATIAREEZD.
3 456 7 _
v T T T T ] SE0Oz0OxELDESIDXFI v s
3 456 7 —
v_s=<1,00, 1, & 1>
v m =100 111 010 000 000 010 111 010 010 111 001
prog ...
prog ... \éar V_s, tmp: ; <e e s>
: 3.7] of T%; egin % :
Ez;i\; armay[3.7] 0 v_s:=create(7-3+1); EEAIDHIHIE
vl[4] = v[6] # 000; imp::get(v_s, 6-3+1);
. tmp:=tmp # 000;
end. V_s:=put(v_s, 4-3+1, tmp);
er{d.
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FEH23. bhbhDTOTSIVTEENTRTOT—42EL
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512.5. BRE, XFF, BHEALEOI—FEEAILRTBD@EY.
REEDEANE, HBUVEBooleanE DF—RITRDELSIZa—K1k

. [true]=1 [false]=0

$12.6. 70T 5 L3 (BUTI—FAYD) XFFIERELTI—FE.

progA.. A =0111000 01110010 01101111 ...

begin p r 0. FoLfELPFLY
: 2 FiEt 555,

end. 01100101 01101110 00101110.. SHEEZAT.

e n d




10/19
Theorem 2.3. All the data types and elementary operations in our
programming language can be realized on X*.

“Our encoding method”
[x7: anelement of £* representing a data x (a code of x)
|w|: adatarepresented by an element w of =*

Ex.2.5. Natural numbers, strings, integers are coded as before
Truth value of a predicate or data of Boolean type are coded:

[true]=1, [false]=0
Ex.2.6. Programs are also coded by considering them as strings

prog A ... A =0111000 01110010 01101111 ....
begin p r 0...
: We could use a
end. 01100101 01101110 00101110 .. gfferent coding
e n d method, but ...
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[F—51%07055 L 1ERINEOERETERE
L HRERBILTHATEMIETS
222 HlHEEOHODELRESR

22.SHEDOEARESR

W24 BT O/ S L(BRERLEHTUEL)IE,
FTRTifXEgotoXITEH>TRIETES.
(B EE)
JA—Fvy—bk > ifX&gotoX
HRETUHL > R0V TESLRET

1HRE2.5. TR TOHIEEE LI EgotoX Tk > TEETES.

TEIE2.6. TR TOHIEEEXiIFXEwhileX &> TERTES.
(BI=EDNTEEHA)
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2.2.2. Elements for Control Mechanism

Lemma 2.4: A function (definition and call of function) can be
implemented by if and goto statements.
(Proof sketch)

flowchart -> if statement and goto statement

recursive call - can be rewritten using a stack

Lemma 2.5. All the control mechanisms can be realized by if and
goto statements.

Theorem 2.6. All the control structures can be realized by if and
while statements.
(Proof based on examples)
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% XD MNESINEHETHTAT S L
prog A(input x: *): £*;
label LOOP; var a: £*;
begin
LOOP: if x= ¢ then halt(1) end-if;
a:=head(x); x:=right(x);
if a=1 then halt(0) else goto LOOP end-if
end.
CNERDESITERTS.
(1) 7OTSLDOEFIEROVT .
(a) XA &EgotoxX
(b) if =* EELE then goto ... else goto ... end-if
(c) halt(Z=%)
2) TATSLREDETICIE, LINDIEFEY, L2, L3,.. LBl
SRLDFENTNS.
@) =12L. ©DOHOTIETOI S LORZKICIERLMRNT,
EFNIFLOESRILFITFENRTINS.

12/19

% program to determine whether x is 0* or not
prog A(input x: *): £*;
label LOOP; var a: %
begin
LOOP: if x= ¢ then halt(1) end-if;

a:=head(x); x:=right(x);

if a=1 then halt(0) else goto LOOP end-if
end.

Convert it as follows.
(1) Each line of a program is one of the followings:
(a) substitution, goto statement
(b) if comparison on Z* then goto ... else goto ... end-if
(c) halt(variable)
(2) Each line in the program body is labeled as L1, L2, ...
(3) The line of the form (c) above appears only once in
the program and it is labeled as LO.
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prog A(input x: 2*): £*;
label LOOP; var a: =+,
begin
LOOP: if x= ¢ then halt(1) end-if;
a:=head(x); x:=right(x);
if a=1 then halt(0) else goto LOOP end-if

end.
.

prog B(input x: £*): £*;

label LO, L1, L2, L3, L4, L5, L6;

var a,c: %

begin

L1: if x= & then goto L5 else goto L2 end-if;

L2: a:=head(x); goto L3;

L3: x:=right(x); goto L4;

L4: if a=1 then goto L6 else gul_
LO: halt(c)

end.




prog A(input x: £*): £*;
label LOOP; var a: =%
begin
LOOP: if x= ¢ then halt(1) end-if;
a:=head(x); x:=right(x);
if a=1 then halt(0) else goto LOOP end-if

-
prog B(input x: £*): %,
label LO, L1, L2, L3, L4, L5, L6;
var a,c: £*;
begin
L1: if x= ¢ then goto L5 else goto L2 end-if;
. a:=head(x); goto L3;
: ight(x); goto L4;
L4: if a=1 then goto L6 else goto L1 end-if;
L5: ¢:=1; goto LO;
L6: c:=0; goto LO;

end.
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prog C(input x: £*): £*;
var pc: num; a,c:*;

begin
pc:=1;

prog B(input x: £*): £*; while pc =0 do
label LO, L1, L2, L3, L4, L5, L6; case pc of )
var a,c: I*; ‘ 1. if x= ¢ then pc:=5 else pc:=2 end-if;
begin 2: :h_ead(x); p
L1: if x= & then goto L5 else goto L2 end-if; 3 X:=ight(x);

: a:=head(x); goto L3; 4: if a=1 then pc:=6 else pc:=1 end-if;
L3: x:=right(x); goto L4; 5: ¢:=1; pe:=0;

L4: if a=1 then goto L6 else goto L1 end-if, 6 ¢:=0; pc:=0;

: ¢:=1; goto LO; end-c_ase;
L6: c:=0; goto LO; end-while;
LO: halt(c) halt(c)
end. end. 1=1f2L, caseXIE

=4 ERRIZIFIfX D
goto Lk = pc:=k; HAEHETEH.

LO: halt(c)
end.
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prog C(input x: £*): *;
var pc: num; a,c:z*;
begin
pc:=1;
prog B(input x: £*): =*; while pc =0 do

label LO, L1, L2, L3, L4, L5, L6; case
var a,c: X*; ‘

pc of

1: if x= ¢ then pc:=5 else pc:=2 end-if;

begin 2: .:h_ead(x); pc:=3;
L1: if x= & then goto L5 else goto L2 end-if; 3' X:=right(x); pe:=4; )
L2: a:=head(x); goto L3; 4: if a=1 then pc:=6 else pc:=1 end-if;
1 x:=right(x); goto L4; 5: ¢:=1; pc:=0;
L4: if a=1 then goto L6 else goto L1 end-if; 6: ¢:=0; pc:=0;
: ¢:=1; goto LO; end-case;
: ¢:=0; goto LO; end-while;
LO: halt(c) halt(c)
end. end Remark: case statement

goto Lk =» pc:=k;

is realized by combination

of if and goto
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case pc of
1: if x= ¢ then pc:=5 else pc:=2 end-if;
2: a:=head(x); pc:=3;

if pc=1 then

if x= ¢ then pc:=5 else pc:=2 end-if;
else if pc=2 then

a:=head(x); pc:=3;
end-if;

case pc of
1: if x= ¢ then pc:=5 else pc:=2 end-if;
2: a:=head(x); pc:=3;

if pc=1 then

if x= ¢ then pc:=5 else pc:=2 end-if;
else if pc=2 then

a:=head(x); pc:=3;
end-if;
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BH@IOgS5L: TOBRODHTHERSNSGTOIS A
FT—5E: S EOXFHE (R, 2R
EXNEH: XFHEOENEE
T KRA, if3(caseX), while3Z, halt3g

BT EARTOT I L TN ERBEGEMT OIS LICERZ
BIENTED. LMBRDESURERTOTSLICESEE D

prog 7SS L% (input ...) ;
var pc: =% ... ;... 2 %pcDE X B RS D2 R T

begin
pc:=1;
while pc !=0do
case pc of
1 (X); % (X) DRI
2: (30 - if LB then pe:=k1 else pc:=k2 end-if
. - A pei=k;
k(;, OLThAn
end-case
end-while;
halt(c)

end.
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Simple program: a program consisting only of the following elements.

data type: string type on £ (X type, =* type)
elementary operations: elementary operations on strings
execution statements:  substitution, if (case), while, halt

Theorem 2.7 Any program can be rewritten into its equivalent
simple program of the following form:

prog Program name(input ...) ;
var pc: X*; ... Z; ... £*; % value of pc is a binary representation of an integer

begin
pc:=1;
while pc != 0 do
case pc of

1: (statement) ; €ach statement is one of the two:
2: (statement) :  “if comparison then pc:=k1 else pc:=k2 end-if
: =substitution; pc:=k;

K: (statement) ;
end-case

end-while;

halt(c)

end.
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2.8 T RTOEFEATEERISITKL,
FNEHETIEER TOTSLNEETS.

TRTSLAIVVADBEEEZ THES.

BRAHIH (THFRFOIR—D)

EX(EE R EHEBTETTETELORET)

u Ut SEOEH, vV TEOEH

c:IEIDEH, s T EDEHR
(KA

(1) u:=c; (2) u:=u’;

(3) u:=head(v); (4) u:=tail(v);

(5) v:=s; oy ?

(7) vi=right(v); (8) v:=left(v);

Q) vi=u#v; (10) vi=v # u;
[€:4:3°9)

(11) u=c (12) v=s
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Theorem?2.8 For every computable function, there is a program in

the standard form.
Consider a behavior of program counter.

Further constraints (refer to 101 page of the textbook)
“each statement must be implemented in constant time”
u, u”: variables of = type,  v,v’: variables of £* type
c: constant of X type, s: constant of X* type
(Substitution)

(1) u=c; 2) u=u’;

(3) u:=head(v);  (4) u:=tail(v);

(5) v:=s; oy ?

(7) vi=right(v); (8) v:=left(v);

Q) vi=u#v; (10) vi=v # u;
(Comparison)

(11) u=c (12) v=s
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A model for managing strings .
pointer to the next element

for a variable v =*10110”

pointer to the previous

! element
head tail

Using the points, head(v) and tail(v) are easily computed.

implementation of v:=left(v);
Find tail(v), and then trace back to its previous element
to rewrite the pointer to tail(v) and modify the last pointer.

v:=right(v) is similar
head tail
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ROBHRADRAVE

XFHEEDETIV
ZEHVDEH“10110"D EE

lﬁ-nsi-esi-asi-mz
HIDBERADRAUH

head tail
ZDESIZLTHLE, head(v), tail(V)DIEIX T CIZBONS.
vi=left(v); DEHE
tail(v)DIHEFTERSD, ZTHSRANDRA2EEY, tail(v)
DRAVE, BEUHFHRI(V)DRA2EEEHRZ D

11

il A [l A

v v:=right(v)® B4k
head tail
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Blal TEHOEM x y DERFELLHEIDHEZRRZTATSL
(BEZA)
X, yDFEEEDXFE L
R7:%Dreject (halt(0))
—HDREXFERYRNTRYEL
x,yhi3£1Ze Daccept (halt(1) )

prog EQ_str(input x,y): var pc, out: 2; a,b: =;

begin

pc:=1;

while pc =0 do
case pc of
1: if x= ¢ then pc:=10 else pc:=2 end-if;
2: if y= g then pc:=12 else pc:=3 end-if; 10: ify=2 Ten pc-‘?l_ else
3: a:=head(x); pc:=4; . l_pcl.—llz_ehd—lf,

o i | 11: out:=1; pc:=0;

4: b:=head(y); pc:=5; 12 out=0: pe=0-
5: if a=0 then pc:=6 else pc:=7 end-if; en&—casé' »Pe=0;
6: if b=0 then pc:=8 else pc:=12 end-if; end-while:
7: if b=1 then pc:=8 else pc:=12 end-if; halt(out) !
8: x:=right(x); pt d
9: y:=right(y); pc:=1; end.




Ex.4.1 Program for checking whether variables x and y of =* type are 19/19
equal to each other.
(Idea)
Compare the first letters of x and y
distinct=>reject (halt(0))
equal=>remove the first letters and iterate.
both of x and y become & =»accept (halt(1))

prog EQ_str(input x,y): var pc, out: X; a,b: ;

begin

pc:=1;

while pc !=0 do
case pc of
1: if x= € then pc:=10 else pc:=2 end-if; 100 i " el

- if y= . . . if y= ¢ then pc:=11 else
g: if y= ¢ then p: 2 else pc:=3 end-if; pe:=12 end-if;
4: 11: out: =0;
5' 12: out:=0; pc:=0;
6: if b=0 then pc:=8 else esgf’\;\fﬁzi
7: if b=1 then pc:=8 else pc:=12 end- ’
8 ight(x); p halt(out)
9 X end.
right(y); p!




